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9+5=111. 2+9=11. 9+6=15  8+5=13
7+6=13. 8+7=15 4+9=12  9+8=1%
6+8=111. 3+9=1L 6+6=12  8+8=16
7+7=\4 4+7=11 5+6=.11 94918
7+9=46 3+8=.11 8+4=.12

povddeg pe pHovadeg kal OekAdeC He OeKADEG.

32+9=11 44+8=57 55 + 6 =6.]. WA
86 +9:=97 96 + 5 =41, 15+8=93 °
43 +8=51. 77+9=5%6 69+ 6= +£3
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povadeg pe povadecg kai 0ekadeg e 0ekAdeG.

57&;% bl 6@ =+.2 75% = P2
35+9 =LY 87 +7 =44 18 +5= &3
48 + 6 = 5.4 29+9:=73% 74 +7 = 8]
15+7 =49 78+8= 86 56 + 6 = (.
49+2=14] 63+8=1%1 14+9=432
29 +8 =27 33+9= L 46+5=5]

i




1% Kavw Ti¢ TipoaBéoeic.

D
53 |—*—49

ZRe

56 53

57

54
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